Ch 29

World War II Terms

· Totalitarianism differed from traditional antidemocratic monarchies in one profound way. While monarchies ignored the people and maintaining power through class distinctions, totalitarianisms sought acclamation by the people and at least pretended to rule ‘in the best interests of the people’.

· Fascism: The definition has varied, but it is generally when a leader puts a claim over the thoughts and actions of the citizens. At the time it was considered a continual revolutionary system. Fascism has become a catch all for any extremist dictatorial government that achieves power through advocating extreme loyalty to the state with a militaristic undertone. As such, the Soviet Union is technically Fascism despite Fascist and communists generally not agreeing. So it is basically a catch all term for dictatorship where the differences are more important than the similarities. 

· Blitzkrieg: Nazi ‘lightning war’. Basically it was a combined use of tanks, aircraft, and mechanized (mobile) infantry designed to quickly achieve a breakthrough of enemy lines and give them no time to fall back and reform. It was designed to avoid the pointless charges in trench warfare. IT worked very well initially but over long distances such as in Russia or North Africa it began to fail.

War in Europe
· By July 1940 Britain was all alone at war with Nazi Germany. Hitler tried to break the Britain’s air force with the Blitz, a continuous attack on industrial complexes and airfields. (later he shifted his targets to civilian population where it then became known as the Blitz. Previously it had been called the Battle of Britain) Hitler had to destroy the Royal Air Force so his Luftwaffe could destroy the Royal Navy. The Royal Navy could have decimated Hitler’s invasion force.

(Unrelated to WWII, but notice it was now the Royal Navy rather than the British Navy. This was due to the fact the British Empire was now a Commonwealth known as the United Kingdom.)

· The Royal Air Force was close to collapsing when Hitler chose to invade the Soviet Union in June of 1941. This invasion also drew troops away from North Africa where the British had been engaged in a land war with Italy and Germany.

· After Hitler’s failure in invading the Soviet Union and the defeat of his armies at Stalingrad, the allies with US support were able to invade Europe proper and finally defeat Hitler on May 7th, 1945. (I’m assuming you already know about WWII. Read pgs 967 and 973)

· Hitler had the idea of a ‘New Order’ for the world where it is dominated by ‘racial superior’ people of Germanic descent. Below them would be the inferior Latin descended French. Slavs in the east were considered sub human and could be executed in cold blood to make living space for Germans.

· The Holocaust reached its most terrible point with the ‘Final Solution’ where Jews were going into mass executions like parts on an assembly line. It now thought that the reason the vast majority of Germans took no action against the concentration camps was due to the following reasons:

· Most of them didn’t know how bad it was.

· They had been indoctrinated to believe that Jews were at the very least not part of Germany

· Cultural pressure. (More info on pg 967)

Prelude to war in Asia

· Despite the immense rise in Japanese power, they were still heavily dependent upon foreign resources such as metal and oil. In addition their armies were bogged down in China fighting both the Nationalists and the Communists. 

· Japan was also a Fascist government, with a twist. Although they were thoroughly indoctrinated into the idea of racial supremacy, they also believed the Emperor was a god and they had to do what he said. 

· In response to Japans invasion of Indochina in July 1941, America cut off all oil trade with Japan, reducing their oil imports by 90%. This reduced their oil reserves to such a point where they expected they could only fuel their navy for another 18 months. In retaliation Japan began planning on how to defeat America. They hoped to quickly knock us out of the war and gain enough time to unify their exponentially growing empire. I think we all know how that plan turned out. It failed because the Japanese were unable to move fast enough after their success at Pearl Harbor giving us enough time to rebuild our navy.

· Japan had been able to annex most of Asia without a huge fuss being created because they said they were coming to free the natives from western imperialism and to create the ‘Greater East Asian Co-prosperity Sphere’. As the war went on the native groups became disenfranchised because the ‘independent’ governments Japan had formed were simply puppet governments and the natives were seeing no benefits to Japanese occupation.

The Grand Alliance

· The Allies, made up primarily of Great Britain, USA, and Russia, along with other smaller countries were allies by chance. While America and GB were likely allies while Russia was a chance addition. As Churchill said: “Politics makes strange bedfellows” and “If Hitler were to invade Hell, I would at least put in a good word for the Devil in the House of Commons.”

· It was agreed to pursue a ‘Europe First’ policy along with an ‘unconditional’ surrender so the Allies would remain allied until the war was over. It was also agreed to postpone political questions until after the war was over.

· By 1942/3 the tide of war was turning. America had fully mobilized its industry out producing Germany, Italy, and Japan combined. American troops were taking islands from Japan; Russia was on the advance after the German defeat at Stalingrad, Leningrad, and Kursk. British/American forces were moving up the Italian peninsula.

· Russia was able to survive the initial stages of the war for a few reasons. The main reason is that they were able to relocate their entire industrial complex east of the Ural Mountains. The USSR was also a master of propaganda so instead of using communist propaganda against the Germans they were using Russian nationalism; they ended up calling WWII ‘The Great Patriotic War’. (Case point, the 1938 Sergei Eisenstein movie Alexander Nevski. Teutonic knights become Nazis. Swastikas are even seen on some of the helmets). The final and perhaps most important reason is that Russia is HUGE  and has in effect unlimited people. This enabled them to use a ‘quantity over quality’ force in war. Stalin even remarked ‘quantity is its own quality’.
Victory in Asia

· The allies were able to secure victory in Asia by out producing the Japanese and the ‘Island hopping’ strategy pioneered in 1943. The previous strategy had been ‘Island stepping’ were every Japanese held island would be taken. The flaws with this plan are obvious. The Pacific is literally dotted with small islands the Japanese had up to 30 years in which to fortify them. The ‘island hopping’ strategy is where troops only take important islands and ignore the rest.

· The military collapse of Japan began in 1944 where at the Battle of Leyte Gulf where basically the entire Japanese navy was destroyed by superior American numbers. The defeat of Japan had begun back in 1943 at the Battles of Coral Sea/Midway where Americans were able to destroy around 3 out of 4 Japanese carriers while losing only 1. (Interestingly, in an attempt to redirect American carriers the Japanese seized some of Alaska’s Aleutian Islands. The only time the Japanese landed troops in North America.). If Midway was the turning point in the war Leyte Gulf was the nail in the coffin for Japan.

· The war ended as a result of the Atomic Bomb drops on Japan at Hiroshima and Nagasaki. (The bombs were code named Little Boy and Fat Man respectively. It is thought that the code names are homage’s to Roosevelt and Churchill). The bombs were dropped on August 6th and 9th of 1945. We dropped the bombs in such quick succession to try and trick the Japanese into thinking we had more atom bombs while in actuality it would have taken us another 3 months to make another one. Japan surrendered on August 12th, a few days after Russia declared war on Japan. It has been thought that the reason for the Japanese surrender was not due to the Atom Bomb (We had already caused more devastation in one fire bombing raid) but because they wanted to get the war over with as fast as possible so Russia couldn’t invade the home islands. Japan wasn’t sure Russia would respect the Allies peace ideas. They also knew they could expect little mercy as a result of their annihilation of Russian Forces in the Russo-Japanese War back in 1905. 

· With the Surrender of Japan WWII was over, costing 50 million lives, a signifigant part of which were civilians. The ending of WWII ushered in a new era where the world was polarized between two superpowers, America (NATO) and Russia (USSR). The results of the war:

· America experienced a huge economic boom as a result of the GI Bill.

· Russia seized all of Eastern Europe forming it into the Warsaw Pact, splitting Germany in half.

· The development of the Cold War

· The disappearance of Britain’s ‘Empire on which the sun never sets’ through anti-colonial movements. (Israel and India).

· Development of ever more destructive weapons to the point where a single nuclear missile submarine could carry 18 missiles. Each missile has 6 warheads. Each warhead could target a different area, with the destructive capacity of at least 3 Hiroshima bombs. (Most are well past 5). This arms race culminated with the Russian ‘Tsar Bomb’ that was equivilant to 50 megatons of TNT (the designs had called for 100 megatons but that was deemed too dangerous with nuclear fallout.); the fireball from the bomb was 8 km in diameter and nearly touched the delivering aircraft while the mushroom cloud was 7 times higher than Mt. Everst. This bomb was tested in 1961.
